HONEYWELL HL400⁻⁻⁻-AM ANTIMICROBIAL-PROTECTED DISPENSER FOR EARPLUGS

Experience Cleaner Surfaces



ADDED PROTECTION. AROUND THE CLOCK.

Maintaining clean workspaces is important for every business. Introducing Honeywell's HL400-AM earplug dispenser – with built in antimicrobial properties to protect the dispenser against stains, discoloration and odors caused by mold, mildew and bacteria.

Enjoy cleaner surfaces from a dispenser with enhanced cleanliness.

HEARING PROTECTION – HYGIENICALLY DISPENSED

Benefit from your trusted hearing protection, now provided from a dispenser with built-in enhanced cleanliness.

Thanks to the antimicrobial-protected turn knob and catch tray surface, earplug dispensing is now cleaner.

The antimicrobial additive releases slowly to reduce the bioburden on the turn knob and catch tray, ensuring the product remains clean and does not require extra cleaning, thus, driving cost savings. **This product does not protect users or others against disease-causing organisms.***



Antimicrobial-Protected Dispenser	Universal hole positions — eliminates the need to drill new holes;
Durable, recyclable plastic canister — an economical choice for dispensing earplugs;	Easy twist knob with 180° of access — makes dispensing earplugs easy;
Compatible with all Howard Leight [™] disposable earplugs – MAX [®] , MAXLite [®] , Laser Lite [®] , FirmFit [®] , and Bilsom 303 S/L;	 Available with prefilled canister and multiple refill options: Replace the empty canister. Refill the canister with a traditional zip-top bag.



HL400TM-AM YOUR CHOICE IN HEARING PROTECTION

Allow employees easy access to hearing protection and make sure that the choices are specifically matched to the work environment.

A SELECTION OF HIGH-QUALITY EARPLUGS

HL400 antimicrobial-protected dispensers are compatible with any model from Howard Leight's wide range of in-ear hearing protection, providing the right fit for every user in every environment. Howard Leight's disposable foam earplugs are available in different sizes, shapes, materials and attenuation levels that accommodate both personal preferences and specific applications.

PRE-FILLED OR REFILL

Ensure your teams with a sufficient stock of suitable hearing protection. Howard Leight offers two convenient ways to keep your dispenser full. Choose pre-filled canisters of 400 earplugs, made of recyclable plastic, or be more environmentally friendly by reusing the canister with the refill zip-top bags of 200 earplugs. No matter which version you prefer, HL400 provides you with a cost-effective solution, helping you reduce expenses while eliminating waste.

TABLETOP OR WALL MOUNT.

The HL400-AM base can fit on existing wall mounts of other dispensers, including competitor mounts, eliminating the need to drill new holes. The table base can also be mounted to a horizontal surface to ensure stabilization and prevent movement.



GET STARTED Dispenser with prefilled canister





PLUG'N PLAY Refill canister EASY REFILL Refill bag

ORDERING INFORMATION

GET STARTED - INTRO SKUS		
PART NO.	DESCRIPTION	CASE QTY
1006203-AM	HL400 Lite dispenser (AM) with 400 pairs Bilsom 303L EU / AU	1 dispenser and 1 canister per case.
1006204-AM	HL400 Lite dispenser (AM) with 400 pairs Bilsom 303S EU / AU	1 dispenser and 1 canister per case.
1006205-AM	HL400 Lite dispenser (AM)with 400 pairs Laser Lite EU / AU	1 dispenser and 1 canister per case.
1006206-AM	HL400 Lite dispenser (AM)with 400 pairs Max EU / AU	1 dispenser and 1 canister per case.
1006207-AM	HL400 Lite dispenser (AM)with 400 pairs Max Lite EU / AU	1 dispenser and 1 canister per case.
1006209-AM	HL400 Lite dispenser (AM) with 400 pairs Firmfit EU / AU	1 dispenser and 1 canister per case.

PLUG N PLAY - REFILL CANISTERS

PART NO.	DESCRIPTION	CASE QTY
50129774-001	Prefilled canister of 400 prs. Bilsom 303L earplugs	2 canisters of 400 pairs per case. Total 800 pairs.
50129775-001	Prefilled canister of 400 prs. Bilsom 303S earplugs	2 canisters of 400 pairs per case. Total 800 pairs.
50129776-001	Prefilled canister of 400 prs. Laser Lite earplugs	2 canisters of 400 pairs per case. Total 800 pairs.
50129777-001	Prefilled canister of 400 prs. Max earplugs	2 canisters of 400 pairs per case. Total 800 pairs.
50129778-001	Prefilled canister of 400 prs. Max Lite earplugs	2 canisters of 400 pairs per case. Total 800 pairs.
50129780-001	Prefilled canister of 400 prs. Firmfit earplugs	2 canisters of 400 pairs per case. Total 800 pairs.

REFILL AS NEEDED - REFILL BAGS			
PART NO.	DESCRIPTION	CASE QTY	
1006186	1 zip top bag of 200 prs. Bilsom 303L earplugs	10 zip top bags per case. Total 2000 pairs.	
1006187	1 zip top bag of 200 prs. Bilsom 303S earplugs	10 zip top bags per case. Total 2000 pairs.	
1013047	1 zip top bag of 200 prs. Laser Lite earplugs	10 zip top bags per case. Total 2000 pairs.	
1013046	1 zip top bag of 200 prs. Max earplugs	10 zip top bags per case. Total 2000 pairs.	
1013048	1 zip top bag of 200 prs. MaxLite earplugs	10 zip top bags per case. Total 2000 pairs.	
1033016	1 zip top bag of 200 prs. FirmFit earplugs	10 zip top bags per case. Total 2000 pairs.	

For more information

sps.honeywell.com Technical Service: 800.873.5242

UNITED KINGDOM Honeywell Safety Products UK Ltd

Honeywell House, Skimped Hill Lane, Bracknell, Berkshire RG12 1EB United Kingdom Phone: +44 (0) 1256 274938 Email: info-uk.hsp@honeywell.com

NORDICS

Honeywell Safety Products Nordic AB

Box 15 147 SE-167 15 Bromma – Sverige United Kingdom Phone: +46 (0) 424480433 Email: info-nordic.hsp@honeywell.com www.honeywellsafety.com

Honeywell Antimicrobial-Protected Dispensers for Earplugs | 10/21 © 2021 Honeywell International Inc.

